
灵敏度系数计算：
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[bookmark: _GoBack]一般传感器出厂规格里面会直接有校正系数这一项，直接输进去就好，如下图所示：
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应变式传感器电路图及接头定义：
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MRated output and strain value
The output (rated output) of a transducer, one of capacity, is
expressed as mV/V. Itis the output voltage when a maximum
load is applied to the transdcuer. It shows the output voltage
generated when 1V is applied

Example:
1.5mV/V means that 1.5mV is output when a load of the
transducer's full capacity is applied while 1V is applied to it at
the same time. If 2V is applied to it (bridge excitation of a
strain measuring instrument):

15mVIV x 2V = 3mV

Therefore, if the gauge factor is 2.00 (coefficient set at 1.000)
the output voltage of the transducer is 3V and the value to be
shown on a strain measuring instrument can be calculated by
the following expression, which is formultated based on the
voltage-to-strain relational expression:

fe= EldxKe &= 4AekKE
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where, Ae: Output voltage (V) of a transducer
E - Excitation voltage (V)
K- Gauge factor of a strain measuring instrument
& Reading on a strain measuring instrument

With K. E and Ae defined as 2.00, 2V, and 3mV, respectively,
3mV is equalto 0.003V and therefore,

£=0.003 = 3000 x 10-6 strain
By setting the gauge factor of a strain instrument at 2.00 and
‘expressing the output voltage of a transducer at 1V excitation,
we have the following:

28e=¢, then
2000 x 10°% strain
1000 x 10° strain
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MTransducer bridge circuit and connector alignment

Bridge circuit inside and wiring system are given as follows, but
not applicable to some products. When connector plug is
required, specify it on order to install the plug to the transducer
cable.
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MWTransducer Input/Output resistance

Pin alignment of connector and resistance between cables (Q)
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